Nombres Décimaux (F)

Trouvez chaque différence.

592,51 - 0,74228 = 579,99 - 6,0064 =
8,6566 - 3,9899 = 10,758 - 5,0374 =
8128,2 - 5138 = 27020 - 0,8527 =
29324 -0,7653 = 27001 - 3,3117 =
96055 - 2,206 = 20209 - 972,14 =
4661,4 - 0,1666 = 7950,7 - 91,004 =
70,493 - 48,246 = 28803 - 5,0459 =
5,0583 - 3,0626 = 12232 -31,417 =
7,1869 - 3,0154 = 15081 - 372,7 =

424,78 - 0,85165 = 9818,4 - 3083,8 =
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Nombres Décimaux (F) Solutions

Trouvez chaque différence.

592,51 -0,74228 = 591,76772

8,6566 - 3,9899 =4,6667

8128,2 - 5138 =2990,2

29324 - 0,7653 = 29323,2347

96055 - 2,206 = 96052,794

4661,4 - 0,1666 = 4661,2334

70,493 - 48,246 = 22,247

5,0583 - 3,0626 = 1,9957

7,1869 - 3,0154 =4,1715

424,78 - 0,85165 =423,92835

579,99 - 6,0064 = 573,9836

10,758 - 5,0374 = 5,7206

27020 - 0,8527 = 27019,1473

27001 - 3,3117 =26997,6883

20209 - 972,14 = 19236,86

7950,7 - 91,004 = 7859,696

28803 - 5,0459 = 28797,9541

12232 - 31,417 = 12200,583

15081 - 372,77 = 14708,3

9818,4 - 3083,8 = 6734,6
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